

                               САБИРАЊЕ УГЛОВА

	
10 = 60ꞌ                                           

1ꞌ = 6 0ꞌꞌ 
                                        


                                    
	 
64ꞌ =  10 4ꞌ
                                                        79ꞌ =  10 19ꞌ









	   
       330  
   + 570        
      900                   
	      
      120   
   + 360 15ꞌ       
      480 15ꞌ                
	   
   100   2ꞌ
+ 290 58ꞌ       
   390 60ꞌ = 400                 
	   
    440   37ꞌ
+ 670     45ꞌ       
  1110  82ꞌ 
           10 22ꞌ
  1120  22ꞌ
	  
   1440   38ꞌ
+    20     49ꞌ       
  1460  87ꞌ 
           10 27ꞌ
  1470   27ꞌ


	 
  1120   43ꞌ  15ꞌꞌ
+ 220     31ꞌ     6ꞌꞌ   
  1340  74ꞌ   21ꞌꞌ
           10 14ꞌ
  1350  14ꞌ   21ꞌꞌ
	    
     90           51ꞌꞌ
+ 340     5ꞌ     12ꞌꞌ   
   430    5ꞌ    63ꞌꞌ   
                 1ꞌ 3ꞌꞌ
  430     6ꞌ      3ꞌꞌ
	     
     330   44ꞌ  55ꞌꞌ  
+ 1000   20ꞌ   20ꞌꞌ   
   1330  64ꞌ   75ꞌꞌ   
                 1ꞌ 15ꞌꞌ
   1330  65ꞌ   15ꞌꞌ
           10 5ꞌ
   1340    5ꞌ   15ꞌꞌ  


	
α =  140 42ꞌ 5ꞌꞌ

2α =  280 84ꞌ 10ꞌꞌ

2α =  290 24ꞌ 10ꞌꞌ

	
α =  200 20ꞌꞌ

3α =  600 60ꞌꞌ

2α =  600  1ꞌ 


	
                  Израчунај збир углова  α = 334ꞌ  и  β = 336ꞌꞌ.

	α = 334ꞌ = 50 34ꞌ
	β = 336ꞌꞌ =  5ꞌ 36ꞌꞌ                           α + β = 50 39ꞌ 36ꞌꞌ






